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3 1 iR HfgJr. AC tH Eild 6 3709”7 02
5 2 Bl EREIrL LRSS ®iE A 6 3117 42
2 3 EiR tFEIr. AC RHEH {(EE 6 317”7 44
6 4| SR fFEIr. AC ZE EHTF 3 3 47" 13
7 5 EiR f#EgJr. AC HFWL Fo 3 3 487 14
4 6 SR fFEIr. AC =7 A 6 3 48" 16
8 7 iR #Mgir. AC FiE  EfE 1 37 597 15
1 BEiR EREIr RS T Wi B~ 6 DNS
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Bk 5 R EHE = M 6 3127 41
2 SR BT, P R i FEAER 5 3 427 62
3 | BiR tEgIr. AC TE IS 6 3’ 54" 43
4 | BiR HFEIr. AC S AR 3 3 57" 46
5 | Bk KLY ST | AHE BUKED 6 4 00" 28
6 iR BT, [ R ZE e AR 3 4 04”7 92
T | BE ERALNER fhE JLHE 3 4 09" 30
8 | BiR JRHEEE Y 5T Ml R 4 4 34" 53
9 | BiR KRS ST | AHE ERER 4 4 37" 65
10 | SR FENFRR =ZEHR HB 2 4 39" 34
11| BiR HFEIr. AC gz S 4 47" 52
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2 1 FSEX 133 HEUAL =L ik EXx 1 11" 22”7 66
6 2 Bk 2414|1185 H A% BH MR 3 11 377 49
3 3 SEX 99| BEUHAL B [E2] = 2 117 437 11
5 4 Bk 72|k LY 57 g xR 11 477 10
4 5 BiR 2422 A5 H AR fEHE £ 2 127 127 28
13 | 6 N 5087| SRR R fhE  EiE 1 127 217 08
1 T Bk 37| IR ER /NE RN 3 127 287 61
8 8 Bk 2415|rAIR5H AR IV 3 12" 517 176
I Bk 3124 RERHZAR HHE =1 3 13" 08” 00
12 [ 10 | BiR 3141 RERHARR MR =D 2 13" 16”7 26
10 [ 11| BiR 2416 17 B5 H A5 TR AEH TS 3 137 30" 10
14 [ 12 | BiR 2521\ RALHEEAR INSEIR TR 1 13" 46”7 62
T Bk 2421\ 11 B5 A ar AE 2 DNS

9 Bk 242615 H AR YEP IR 2 DNS

15 Bk 2523 RALHR NE #K 1 DNS




- B - EL T3, 000n 248

V= | MEfL o Fft J& K # FEE ACER

3 1 Nz 55| AR =M HAR HH 3 10" 02” 63
2 2 Nz H4| HEZE =L B RE 3 10" 04” 30
5 3 FSEX 10| BEUHAL B HiE % 3 10" 22”7 29
6 4 Bk 6212|275 H 1 R 1F7=5 3 10" 23”7 58
1 5 N 53| HAEEI HLE X4 3 10" 377 04
8 6 Bk 163| FHER Rk A 3 10" 417 92
12 17 Bk 169| EH &% =/ MR 3 10" 427 06
T 8 Bk 6234| %5 H H 4% WO HE 3 10" 477 13
151 9 Bk 168| FHEK NG SN 3 10" 517 51
10 [ 10 | ®™E 15| B EUAL B i CF 3 11" 05”7 61
9 11 | BH 11| SEURAL =R =l EE 3 11" 06”7 47
11 ] 12 | BiR 6232| %5 H 4 R ERE 3 11" 25”7 68
1313 ] BiR 6244| %5 H A e Eh 1 1 327 82
4] 14| BB 6248| 7% FH H R O&Y 1 11" 53”7 18
4 Nz 1074| HZE A ElG 2 2 DNS
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11 1 EiR 1981|HIESE R TR YK 10" 30” 57
3 2 BiR 643 SFFHER e¥ 10" 367 29
2 3 Bk 1660z FH £ ik B 10" 36”7 34
4 4 Bk 1805|Team 0JC = B 10" 38” 78
9 5 Bk 1334| HHETTFER WA = 11" 06” 82
14 [ 6 Bk 915| EAREE F AR I wE 11 18" 99
15 [ 7 Bk 916|EREEHARL RIE EK 17277 12
16 [ 8 Bk 902| EAREEH AR RPg Z=2E 11" 567 55
12 9 BiR 251 4| RALH AR Hef BfE 11" 58”7 30
10 | 10 BiR 1216| ErE iR HE 127 157 04
17 [ 11| BiR 903| =AREEHEEMR PN S 12° 30" 76
13 ] 12 BiR 2516| RALH AR MHE &EF 127 40” 61
T 13 ] BiR 3120[ RERHZARR B3 G 12° 477 50
19 | 14 | BiR 924| ELRBEH 2R AR Bt 137 217 28
8§ | 15 | BiR JII9|RIR AR =VE HRGF 14" 117 51
18 [ 16 | BiR 904| =LREEHEEMR ArE B 15" 317 73
1 Bk 1372| HETTHEPIAER it EiE DNS

5 Bk 2570 RALHEEAR 'R EZE DNS

6 Bk S| RERHZER RE #f DNS
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20 | 1 Bk 1853| & B AR RE T Sl EHE 9 25”7 04
2 2 Bk 1352| BIRRZEFER NI 5 9 28” 53
8 3 Bk 1052 #AVL TP Hf BE— 9" 56” 78
12 | 4 Bk 1371 ETH = Fi5 i 9" 597 30
1 5 Bk 1205|ErTFE B fhth 10" 00” 79
9 6 Bk 1230| Erg T E ZFI EA 3 10" 00" 94
131 7 Bk 1087| TASUKI g FREA 10" 017 46
18 [ 8 Bk 31 14| RERHZE il Bt 3 10" 127 34
6 9 Bk 2420( 1B H AR BA M) 3 10" 197 70
4 1 10 | BR 2418|171 k5 H A% A & 3 10" 217 67
5 | 11 [ BiR 2419|rAIB5 H AR ZAM T 3 10" 227 44
3| 12 | BiR 2412| AR5 H AR LEY NI TVIS 3 10" 227 67
T 13 ] BiR 21627 e HEEAR ZR B 3 10" 30" 33
10 [ 14 | B 630\ BEH T HRX BE— 10" 367 70
16 15 BiR 2423 | k5 H AR RA#& M} 2 10° 54”7 11
11 Bk 2429 1 k5 H A% il BEE 2 DNS

14 Bk 1151 (/YL HTFE R BH DNS

15 Bk 2168|JM R AR = &} 2 DNS

17 BiR 258T| RALH R = EE 2 DNS

19 Bk 1088| TASUKI BH #A
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7 1 Bk SI8|MATLER —H AR Y 2 9’ 267 49
13 [ 2 Nz 1759| 7 =i o A 2 9" 30”7 58
3 3 Bk 1083| TASUKI MHE 9" 30”7 91
8 4 Bk 1703|{ZZ &A1 BRI A 9" 397 61
19 [ 5 Bk 157| FHEK M EE 3 9 407 17
12 | 6 N 1719t FE = &R A 2 9’ 43" 57
22 | 7 Bk 1305| = THIHBAED e L 9" 52”7 33
20 | 8 Bk 1204| ErgHEE e 18 9" 547 31
4 [ 9 N 947 TR B BRE FHEE 1 9" 59” 37
6 | 10 | BR 1053 [ #R VLT B2 =HHR B 10" 00" 13
11 [ 11| B8 1730| 7 = RRE EF 2 10" 01”7 01
23 | 12 | BB 940\ttt FR =L =R EAHD 1 10" 03” 91
16 | 13 | BB 939| 1t FR =L IgE MR 1 10" 057 42
1 14 | BiR 1212| ErTiFE Kt 10" 09” 20
2 | 15 | BiR TA0| FATL S5 Y FR 224K HE YA 1 10" 09” 29
18 [ 16 | BiR 2428 rAIB5 H AR xRl B 2 10" 197 46
15 [ 17| BB 936| 1t Z# = ath K3} 1 10" 227 56
5 | 18] BiR 1379| i E T =17 mR HE 10" 357 87
21 1 19 | BiR 240|FHE =R SR IKE 3 10" 377 52
4 g 1L 8512(HIFAC JREH & 2 DNS

9 N 17271 FR = Sl HE 2 DNS

10 Nz 17297 = EH KB 2 DNS

17 Bk FRVLTPE 2l RE DNS
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6 1 EiR 1284| R ¥ % LM ReA 8 527 41
7 2 | BB 9| SR EE TR Bk EE 8 54”7 60
3 3 BiR 165 - H &t alf 8 59”7 170
10 | 4 Bk 40|t EERER e o 8" 59”7 70
8 5 | B 629| a1 A KA 9" 00” 58
1 6 Bk 1205\ Erg T E B thth 9" 01”7 73
4 7 EiR 2414|1185 H A% ZAM EZE 9° 03” 98
13 [ 8 Bk 1222| Erg T =R 9 04”7 73
9 9 g 111 8505|HFAC =2 T VAVIZ 9" 06” 79
11 [ 10 | BB 1796| TSR =B kR 9" 08” 81
16 [ 11 | BB 5084| SE R H AR fhE Kig 9 117 10
5 | 12 | BiR 1619| 4= AT RE Hx #E 9 117 93
12 13| B8 17341 FE =L a0 B 9" 167 87
20 | 14 | BB 2155[{A R H AR mE Rt 9 177 70
15[ 15| BiR 239| B E B EH Bt 9" 30”7 03
19 [ 16 | B 614|ERARED Hl F2 9" 347 36
17 [ 17 BiR 1301 ETHIHBAED WA £ 9’ 54”7 44
14 [ 18| BiR 39| FMHR B A 10" 187 75
2 FSEX 193] BEUHAL B NE AR DNS

18 N 61| 17 mA B &1E DNS
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8 1 Nz 4462| by TX TV IRE WHE EX 15" 477 56
2 2 BiR 1085|TASUKI AR RH 15" 577 87
6 3 N 94| EE B pRRE  —iO 16’ 017 12
1 4 N 09| PR EE B AN HEXR 16" 257 03
9 5 N 1724 (=R HR K 16’ 347 79
12 6 SEX 895|BEX Y A& — R Nl RA 16" 38” 55
13 7 N 1755| IR SE PR B =i Zh & 16’ 40”7 21
16 8 N 1732t FE =L =H BX 16" 407 42
19 9 Bk 1122{X-Rabbits Rim &2 16’ 46” 03
21 1 10 | BiR 1154\ FA7L P2 INK S BE— R 16" 477 10
20 [ 11 | BiR 1021|RHEfE £ 2 57 huEkE S 16" 52”7 71
10 | 12 | K& 17201t ZE =L A 16" 59”7 37
15 [ 13| B8 1723 | ZE =R Hi&E #&ia 177 007 26
18 | 14 | KB 937|HFE B A fKHR 17017 19
3 15 | BiR 1083|TASUKI FMH 177 04” 62
T 16| BS 94| SR ER e FEIK 17 227 40
11| 17| B8 950| ft 7 = YEIL KA 177 227 64
17 18| BB 941 |t ZE B B =IE 18" 00” 60
23 1 19 | BiR 1609|=FE & 5 A BX BE 18’ 477 71
4120 | BIR 1805({Team 0JC =8 E—H 19 177 70
22 | 21 | BB 7-2301| BARKRZF =B A b 19’ 29”7 36
5 Bk 1619| ¥ HTFER Hix #E DNF

14 SEX 191| BEUHAL B Hef [5E DNS
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2 1 Bk T-1072| BIRKRZF mAR EE 4 15" 13”7 32
10 | 2 Nz 1795| R EE B BfE fta 2 15" 317 31
1 3 Bk T-1071| BRKRZF mAR EBRE 4 157 32”7 65
7 4 N 87| /5 BERFB R A B 3 15" 347 02
5 5 N AT IERIEM 7 5 7 kO #HE 15" 35" 55
6 6 Bk 1118|X-Rabbits &R WE 15" 377 62
3 7 N 1787|FHSREE B m 2 15" 377 62
21 8 N 943| T R = HE K& 1 15" 477 94
20 [ 9 Bk 1057 [#RAVL TR MEH A 15" 557 13
19 [ 10 | BiR 1202| ErTTFE HHEH EE 16" 01”7 51
9 11 | E& 1784| ISR = BIR I BEE 2 16" 10” 61
171 12 | K& 93| THREFEER AR KE 1 16" 117 16
8 13| B8 1745| IR SEBRZBE iR RE AKX 2 16" 127 84
13| 14| BB 1733| 1 FE =R A &1l 2 16" 18”7 38
4 15 | B8 98| PR EE B A 3 16’ 217 46
12 [ 16 | BiR 1283| R ¥ PR HEX 16" 26” 55
11| 17| B8 P FEREEER (7 N1l 3 16’ 407 32
16 | 18 | BB 945| ftt Z# = TH & 1 177 017 69
4 [ 19| BB 1731 FR = K 2 177 197 99
18 [ 20 | ™ 198| S EUBAL EA K% (AR 3 18’ 00" 05
15 Nz 938| 1t Z# = INEF R 1 DNS

22 Nz 930| 12 BSEBRFB =R B EX 1 DNS
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5 1 Nz 946| 1t Z# = FPE R 1 14" 457 06
8 2 Bk 1291 AR HF¥ FRk = A 14’ 45”7 51
6 3 Bk 1284| R ¥ ZAM  #eL 15’ 06” 01
14 | 4 Bk 1288| R HFF RN R 15" 077 16
9 5 FSEX 210| SEUHAL =1 T =3t 3 15" 08” 62
4 6 N 1725\ 1t FE =L gL 2 15" 09”7 46
10| 7 N 949\ttt FE =L ELLES 1 15 10” 63
2 8 N 60| B RE K% 3 15" 117 41
25 9 BiR 152| EH &K amr ANE 3 15’ 137 62
17 [ 10 | BiR 167|FHER B X 3 15" 227 20
7 1T | FE 41|k 1L FA B &R SR st 3 15" 227 30
13 12| BiR 166|F-H =12 =M RE 3 15" 307 23
16 [ 13 | BiR 1055\ FAVL T RE; T EW 15" 30”7 64
1 14 | FH 206) SEUHAL ER M EREA 3 15" 34”7 98
3 15 N 64| THFE =R EH R 3 15’ 377 43
1516 | BB 1788| ISR =B N F58 2 15" 377 60
19 [ 17 | B 205| SEUHAL =K RE =N 3 15" 38” 55
23 | 18 | BB 66| A= A — 3 15" 40” 85
11| 19| BB 948| 1t Z# = RRIR B 1 15’ 43" 68
24 | 20 N 944| HFE =R =Rl &R 1 16> 117 18
20 | 21 | BHEX 200 B EURAL B hE MAE 3 16’ 177 39
21 22 N 63| H7E =R E IV NS 3 16’ 177 84
12 N 62| AR = AR KA 3 DNS

18 N 1780| SR =B AREF FEZ B 2 DNS

22 N 65| T = B AR 3 DNS




